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Pacman is using MDPs to maximize his expected utility. In each environment:
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e Pacman has the standard actions {North, East, South, West} unless blocked by an outer wall

e There is a reward of 1 point when eating the dot (for example, in the grid below, R(C, South, F') = 1)

e The game ends when the dot is eaten k’) ‘e, fransition 4o staxe ¥
Lyie 2o raword at F staje
(a) Consider a the following grid where there is a single food pellet in the bottom right corner (F'). The
discount factor is 0.5. There is no living reward. The states are simply the grid locations.
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(i) What is the optimal policy for each state?

(ii) What is the optimal value for the state of being in the upper left corner (A)? Reminder: the discount
factor is 0.5.
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Pacman is using MDPs to maximize his expected utility. In each environment:

e Pacman has the standard actions {North, East, South, West} unless blocked by an outer wall
e There is a reward of 1 point when eating the dot (for example, in the grid below, R(C, South, F') = 1)

e The game ends when the dot is eatéflT
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(a) Consider a the following grid where there is a single food pellet in the bottom right corner (F). The
discount factor is 0.5. There is no living reward. The states are simply the grid locations.
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(i) What is the optimal policy for each state?
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(i) What is the optimal value for the state of being in the upper left corner (A)? Reminder: the discount
factor is 0.5.

V*(A) = 0.25

k[ VAA) [V(B) [ V(C) [ V(D) | V(E) [ V(F)
0 0 0 0 0 0 0
1 0 0 1 0 1 0
2 0 0.5 1 0.5 1 0
3 0.25 0.5 1 0.5 1 0
4 0.25 0.5 1 0.5 1 0
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